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5 L aper | CRTE
1 ‘:‘i‘:;se’gllia'ﬁ"l'/’b%xé ﬂ._/‘r':' pEdF'd' ) 1,500
2 vivxﬁglméﬂ#/é 2k 7 P 1,200
Y 2 A p 950
4 |F A AR EA- g RS = 5, 200
5 [ 4 +5% ﬂ,ﬁ«f e = 8,000
6 |F#1EF% i”ﬁ‘;/lﬁr’f R F % =x 15, 000
Y = 200, 000
8 [ 4 iﬁfr = 280, 000
9 |Fk#BHBIGRD = 160, 000
10 [gs 5 = g = 35, 000
11 | Fps = 19, 000~20, 000
12 |2 =245 i oA & 243,000
13 |7 5040 o< BF () $ 75 & 38, 500
14 |75 573 s ie—g g s ] B ()3 %5 = 66, 000
15 |75 93 3 =25 s i w3 i & B2 =% 80, 000
16 |75 Vo3 w3 =75 s 3 3 i P 2R =% 110, 000
17 [P 3R e FER%) 39, 000
18 |IEff £k = 45, 000
AAEHE1,2007
19 |#7ede § 4% % 2t & 13E400 =~
w1330~
20 |59 s/ E E =% 30, 000
21 =K 3 5-2% T AT 6, 000
22 |- 5 “ALE S e 400 7 /3
. P 3815, 000~ /=
23 | WA A - %30, 000~ /%
He o SREBRE W (SRR T)
1. l,["a‘ﬂi,dﬁ—gfyfm“-l-h o _
24 0o 3 1 i 09, 000
3. % FE & N FH o
25 |BRE K = 2,400~8, 000
26 |7 7 AR T 3 2,000
27 |7 36 ¥ = 500
28 |mBPg4eEeid R7/5F = A 800
29 }\/\7'9 L«'/-r-” ( ) &E 1,500
30 | & w7 # ,Ll}_n &E 3, 000
3l [2r 7& 36 -5 K K AL 12, 000
32 | B RE v i R A% 8, 000
33 |8 # %0 #H = 1,000
34 359?,71“47:137@‘( ) = 1,000
B |lziHdF(d) = 2,000
36 |5 PFBa() = 3, 000
37 |z @ity 34t () 3 6,000
38 [Bmctsdion(HE) = 5,000
39 [BEmcin o (- 4%) = 6,000
40 | B At E ok (A3 = 7,000
NREZZEXRGED) = 500
42 |¥mi 2 v (- 4%) = 1,000
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43 |*EF) 3 v (GEie) =X 3,000
44 |Denture repair--simple EN 1,000
45 |Denture repair--regular EN 2,000
46 |Denture repair--difficult = 3, 000
A7 ("t L% 3 1,000
48 |87 %9 # (Hif) = 1,000
49 a7 4 4 5, 000
50 |&#=gir(2r) EN 3,000
5l ik n4F Utk d & =4 EN 3,000
D2 |gd e BB EN 6, 000
53 |+ 1 ¥ B 9,000
54 (A1 BE(Y) 7,000
50 |A 31k BHE(X) & 8,000
56 |7 % eI R 4 2(C]) = 8,000
57 |7 % k3l 4 L pe(¥) =X 10, 000
58 |7 % eI R 4 £ (%) = 15, 000
59 |7 ZH £ v (- &) == 6, 000
60 [7 =3 £ (i H) % 4,000
61 |51 % £ 2 () i 10, 000
62 |51 8EF L 4(¢) i 20, 000
63 |31 EF £ 2 () B 30, 000
64 |fRpF BT A 2,000
60 |4 BMEHF - IERT 3 300

66 [>v &x&(H)—-1 Gl 25, 000
67 [>v &&(F%)—-1 Gl 50, 000
68 |2 & > HAFs4 L £ (5 %) Gl 10, 000
69 |2 v H& HEHHE(T %) 7 20,000
70 |45 h A% -B Gl 20, 000
NEER:S L 3 1,500
2 [ZEEpETA 3 8,000
13 |57 % ( B7) 3 1,000
T4 [Fdm e (R * 8) 3 1,500
D |BEMFT TTw (¥ 4e) 3E 1,000
76 [136 & F 5 (Coping)(H # e & Frrapra il § * ¥3+) a 8, 000
IEEX: T 3E 15, 000
8 |2y % 3 7,000
79 [fEH et 2 i B(hIN) iR 5, 000
80 |[fER £ jiv* 3 = E(2v) 3 10, 000
81 |~ 743( % 3g/53F) 3E 35, 000
82 |ITI-k & %4 3 60, 000
83 | = % p Rl 3 70, 000
84 |te#f X {iigdn 3 5, 000
85 [1E48 7 & 3 30, 000
86 |1¢ 848 3 10, 000
L) e e 3 40, 000
88 |[tEM A2 % 3 50, 000
89 [HEM T 7 % 3 10, 000
90 [feRaAFR I ES 3f 40, 000
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S LA aper | CRTE
91 [AEHMpm(HERDHEF ¥ 3 =X 15, 000
92 |51 4 (] ) = 10, 000
93 sl wsg 2 pe(¥) = 15, 000
94 [31 % wmag 4 is( %) = 20, 000
95 3 F AT (0.5 5 = 5, 000
96 |« 1 9 $2-A = 40, 000
97 |* 1479 9 % 3 30, 000
98 [#£7 o2t 4 % £ i34 Obunits) = 30, 000
99 [2rid 247 F RS BT -FEc Ay 3 20, 000
100 |5 peste i@ 87) = 10, 000
101 [r p&or e ig o dp1(F ) =% 3, 000
102 [# 4 # 3 3 #e( ¥ %) 20, 000
103 [# 5 13 % = 4,000
104 | 9 = ki % 6, 000
105 [ g ®; e =% 10, 000
106 | p 485 | 45 B4 % 6, 000
107 [* 1 9 j2(qaag)s o 1 = 3,000
108 [A-one % ¥ 473 6, 000
109 [ £ % A-one &1 # 4 3, 000
110 [E %55 | 45 4 3o = 6, 000
NIEEEL Y FSICD = 6, 000
112 [# 52 %R 39 C]) = 5, 000
113 [F 2 R ik (O) = 40, 000
114 [F 23 5 R o (A) = 15, 000
115 [F 23 kR i o (B) = 30, 000
116 [F 2t B A (A) = 60, 000
117 |[H 258 %t (B) = 70, 000
THEERE LT 22 = 80, 000
119 [H 80 A&l @) = 90, 000
120 [H =8k (B) = 100, 000
121 [Damon clear(two arches)i % 5P H T Fr £ 2% = 30, 000
122 Damon Q(two arches)i F QF 2%+ + % % 20, 000
123 [d s g 8 () 5 4,000
124 %%ﬁ%ﬂ%ﬁ@) %5 6, 000
125 [E# s g 25 (0) 5 8, 000
126 [=# g 28 (D) %5 10, 000
127 [# it %3 =% 20, 000
128 |42 %4 = 3, 000
129 |42 % & (B) = 4,000
130 |42 % 4 (O = 2, 200
131 [ 529 = 1,000
132 | /b % (B) = 3, 000
133 |52 (D) = 1,000
134 |2 £ 2u2 (£ 36460 B) 3E 600
135 |2 & An (LA AT B) = 1, 000
136 | % £ Au2 (& ZkDamong i E) = 2,000
137 | = = 5,000
138 [ 4 A gral i bt s E = 3, 000
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139 |if % & $72) = pliadd B =X 1,000
140 |z B iadd B [ 5,000
141 (=2 & 4% B 3,000
142 |2 £ ¥ (B) i 10, 000
143 |2 £ F (L) i 5, 000
144 [va& o =X 30, 000
145 | Hs T 5o 8 K% EN 32,000
146 [72 & F & & = 200
147 | H 5 2 XL P J|P = 800
148 |- v et & = 200
149 |2v £ 579 7 2 izl 4,000
150 [547 P9 AHAa 7 B85 7 67 2 &7 & a3 3,500
151 |Fef 459 29 £ first stage permanent tooth metal crown 37 4,000
152 |ip =42 7 # 7] *B 500
153 |2a E A& S 3 5, 000
154 | 528 &% (hN) A 5,000
1550 | F 857 5 @i = 10, 000
156 (8 ] H =% % ¥ unilateral fixed orthodontic appliance = 4,000
157 [ H =% %% bilateral fixed orthodontic-appliance = 7,000
158 [# s g B =X 20, 000
159 |59 w97 247 % 3 6, 500
160 [547 {67 2% 7 % a3 8,000
161 |7 #2"a%ThELRE(2T) = 5, 400
162 |7 4% %% #2146 & (E %) 2, 700
163 [4F Fr 7 A @iz Xk & (k) EN 200
164 [> ¥ p =4 S ilie b = 1,500
165 [4F @A 40044 L » EN 200
166 [f 387% et &=k T *5 i = 600
167 |2 $R0% firie & -5 B £ 208 25 ) = 1,400
168 | 2 AL Y ™ ¥ Kzl 520
169 [BE A 3V T S £ = 300
170 |~ 5+ 3 WiTAREFiFn ik 4 7 = 1,000
171 | 3Rk Al = 400
172 |84 5 (B 1) T A% 65, 000
173 |45 & T A% 60, 000
174 ¥tk & = 800
175 [ B A& = 3,000
176 |Ftkde 2 %5 = 2,000
177 | #7232 £4H4A0~4¢) = 150
178 |#e 48 %5 /= EN 100
179 |ABO = A]#Bsc i EN 500
180 [ k% ¢ 4tk & = 5, 500
181 |s i ¢ MK D = 3,500
182 |*hr® %54 ¢ 46 2 = 5, 000
183 |4 32 /w e if 8 A 47 =X 9, 000
184 | 4 ¢ Mtk D = 5, 500
185 [3 & % px =X 500
186 |4 ¢ R%T2 A 45 EN 6, 000

F4H H14H




P AERFR (N5 1137010024)p P R P Z

[t %7 %]

BATig3vp #p c 114#07% 28p

5 L aper | CRTE
187 |44 WME LRtk d 3,500
188 |4 &t =3t 2 £ (p § i B 4 5150 B ) = 4, 000
189 |FHpmre ¥ L s F Réite ¥ L2 45 MEF = 4,000
190 [/ & 4 % skin biopsy% ¢ i+ & = 4,000
191 [HE35 5 4 414 4% = 10, 000
192 [ 2 %8 e 2 2 470 & =X 250
193 [4 #5098 4 L e 2 2471 B =X 450
194 [F Rl = 2472 F % FHRFHE T = 450
195 | e % 4 B 25T = 7,900
196 |3 % 3559 (M =) * 990k ~ § R 5 ~ BB @G~ f 300
197 | it g & 3539 (BSDME * ) =X 300
198 |[“apmizgsy £ % 4 FAEEA T = 300
199 [ & % % = 1,000
200 [Amphetamine confirmation (GC/MS) = 1,700
201 [Cannabinoids confirmation (GC/MS) = 1,700
202 |MDMA Gk & FEinik & = 1, 650
203 |24] p% o B E = 1,500
204 [14=x 2 N T Bt a = 15, 500
206 [T N T Bt a = 12, 500
206 |25 5 s %D = 800
207 [Anti-mullerian hormone(AMH) =X 800
208 |3p%5 6 % 4 £ F]F L 39 3 = 1,000
209 |iz s 3k 4 & F) S = 1, 800
210 |Anti-GAD Ab #ugsiieped 25 A% 2 Hudll = 1,200
211 [*A g im b 5 & L3k Fv =X 1,000
212 |374 btk P B T Rie B = 650
213 |p ARG S 51T g W a4 &1 S = 45, 000
214 PR B BV R o A = 120, 000
215 |5 % "6 B 4 s R = 20, 000
216 [§ % oI BT = 18, 000
217 |CTH51 9 #8714 o i) fais = 20, 000
218 |47 & § gL HER = 12,000
219 | & PR Hgis T (= 45) = 30, 000
220 [FC 5 MRS MO REA, £ i = 5,000~20, 000
221 |3Dpc Al = iaf S B 7 (P B = 30, 000
222 [P ARETHPM K D = 15, 000
223 |55 i5ts p Ry L B A L (i H) EN 30, 000
224 |3DH s * % =X 24, 000
225 % ~ MRS EAR fe R R = 30, 000
226 | % deAd sk A = 30, 000
227 |25~ M & o 4 & Rtk s (NIPTHAC | & ) = 29, 000
228 |UGTIAL Z #1414 i8] = 2,000
229 | F K FiESR = 2,500
230 | Rtk D = 500
231 |&ki-k ik A = 1,000
232 | & % % p = 2,000
233 | AR 41 R = 600
234 |} & kR = 770
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235 [(RILE A EFE % = 2,300
236 [F] = -k Rl = 500
237 |3 | MEfEe & - = 600
238 |Neonatal Screen Test = 570
239 |BCR/ABL g & & %] T3151 % % &tk = 2,500
240 |42 % 247 A 2 1R 32 2 v ok i (array-CGH) = 20, 000
241 |3 @42 54 BBRCAL/2 & Fl4k i8] = 30, 000
242 [ @ Pk b A TR R (324 7D = 75, 000
243 |7 A - F R M 5 F s AR SR HE A TR R EN 12, 000
244 |CALRA 7] % % £ 8L 14 = 1,000
245 |4 2~F] <z A4 (ERCC8) 2. > A F1 2 A i 14 = 9, 500
246 |4 2~F] < B4 (ERCC6) 2. > A FI 2 A i 14 = 13, 500
247 |F it g it g (CFTRA F) 2 > A 7|12 5 & ¥ & 15, 000
248 |COL1AL A 7] % A 4 37 R 29, 600
249 |COL1A2 & 71 % A 4 37 =% 29, 600
250 | % 247 A 2 T8 se 2 v gt e (aCGH) =% 16, 000
251 | b M T 5 R e e i E e P = 27,000
252 |Mip ¥ (CYBBA FD2 > A FIE A Gtk = 9,000
253 [DNAsZ B (2hiz » 2 % 4 ¢ fikp]) = 4,000
254 | % B~DNA = 700
255 |4 gid @A o AL Flik ) = 1,000
256 | % & siw F1F (A4 4 opm)2 INVI 2 INV22 & e = 4, 000
257 A% 45 (% A e F3 )2 > AT E R ik = 20, 000
258 |BAls % (% 4 sts FlF ) FlE A A4 = 9,000
259 (X% ¢ RRs3Tm MRl (G ok B EA 4132) = 4, 000
260 |GIB2 # F1% H2hé = 4,000
261 |84 % 2 7 K P s Ak 2 A FE = 2,000
262 |2 ¢ ¢ B hu R = 3,000
263 |F.4 A FI6 % FE L i = 2,500
264 |JAK2 & FIV617F % % B & 4 = 1,000
265 |4+ i@ <z (AR) A F) i & = 1,000
266 [Guardant360 CDx 7% ik /% ¥ "8 % DNA& iRl = 135, 000
267 |LHON# 2 % % 2E 5 F14 7 = 1,000
268 |7k i e R E 4 A8 Flie RI(11 A 7)) =X 40, 000
269 |MTRNR1 & F11555A-G % % Bt & 16 = 1,000
270 |MELAS# 2 % % 2- 4 Fl4k il = 1,000
271 |MERRF # 2 % % 2 71 8] = 1,000
272 |5 £ R BIFEH PR BT = 8, 000
273 |IMPLA F1% B F 515X R &t = 1,000
274 |4 2 2 AR (NEMOA FD 2 > A FIZ A G ¥ = 9,000
275 |[# sk agm s - A2 2 A TR ik = 9,000
276 |2z ~ A& % 4 ¢ #H s (NIPT) = 20, 000
277 |~ & 7 S (NPCIA FD 2 2 A FIZ A G = 15, 000
278 |NPM1 A 7] % % £ 8L i & = 2,000
279 INUDT15 4 7] ¥ = 2, 500
280 (R EPrd g F I = 1,500
281 |"arndh » % 2 3B @A g 65 1 (5 63 e A2 & 3 40 o) = 5,000
282 st rw 2 B mp e e (B3 mEp) =% 30, 000
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283 |#H T RE B A W R P = 6, 500
284 [rrPofg » w2 A d BB BV GR(TrE T EN LR LR B/H - 292 =X 8, 000
280 [ParpdE » w2 244 F B E R X GiR(TEH T EY LR LS B/H - 22y =X 13,000
286 [t 4 WEM S R TR (PKEDIA F)2 > AL FI T/ & fa EN 36, 500
287 |2 Al ] "o % 45 (SCAT ~ 12 ~ 17 ~ DRPLA) & 7] & & EN 6, 000
288 [#EMH ¥R B EN 2,500
289 [‘Ep B EAF R FIA 4T EN 6, 000
290 | # Bpep X SEE A S R EN 2,300
291 |5 342 Flie Rl = 4, 000
292 |TP53 » & F1% % & 2l 8, 500
203 | poE Mk ik F g A Sn R -TTRAFI R ¥ &k EN 3,200
294 | % o— kg iz (VHILA )2 > A F1 2 5 & = 6, 000
295 [= F & < (ATPTBA FD2 > A F| TR ik ax 12,000
206 |*HEgS i BB BB ETIE A AT S = 35, 000
207 [“tag3 B péece A AFTR = 35, 000
208 [ =~ IS X 100, 000
20 [2 A B F R = 5,000
300 [s ;ZEGFRA 71 % %4 ) EN 10, 000
301 [ACTDrug40 B &k & FId I % ~ " ~ * % 8 B * o7& AL D = 80, 000
302 |BRCAL/ 2% & £ F14& B (7 # 2 F]) =X 68, 000
303 [Foundation One 324 J& & 2 %14 Bl (EX) = 132, 000
304 |ACTFusion f v &k 25 F116 7] =X 35, 000
305 | 2% AlRE A Flle s Bl - & A ¥ 2 % (FoundationOne Heme) EN 160, 000
306 |ACTHRD +& % H i 2 F1 & iR = 80, 000
307 [ACTLung?® ¥ 5. ik A F)4& iRl =X 45, 000
308 [ACTOnco/&% % v /% e Ak FN46 R =X 125, 000
309 [F &+ #Fw —gpha B4t = 7,500
310 [# ma+F #FEw =X 2,500
311 (B3 &= EN 19, 000
312 [# 4 * 1-131 MIBG/: %% EN 10, 000
313 [ + > £ 44 F-18 FLT EN 36, 500
314 |ie% * 1-131 MIBG/x & EN 30, 000
I |2 P HIHCE 7 HT i K F2 12,500
316 | & Z M T3 EN 150
17 [Brif sl au sk ¥k Bk 3% EN 2,800
318 |Cancer Registration & follow up & Picture £ 430
319 |fee At am PR S0 R EN 235, 000
320 | 4 #F v w R FLR FRY S P = 31, 000
321 [# g2 ¥ EN 0
322 [Autopsy = 60, 000
323 sk u ) B HER (B ) =% 400
324 |7 % i ik = 305
320 |Edgyr b i it iE p ARAL AT R EN 5, 000
326 [Acetylcholine receptor Ab = 750
327 |#v centromere B F48 = 1,000
328 |Cord blood IgE = 600
329 [DR-7T0(sk‘a v 234 %) EN 4,000
330 [EBJE & & #p i 4ik 1oG EN 960
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33 |5 - HAH2 L AT LD EHK = 1, 350
332 |Neuron Specific Enolase (NSE) = 900
333 |+ o om ik =% 2,000
334 (¥ - FAPA L Aw TGk (z 1) = 1, 600
335 |4 A DNAR- B # & = 3,000
336 Mt s = 500
T B ANEST R D = 1,000
338 |7z oM wAed 4 B = 3,000
339 |Pevad pAe g it C = 3,500
340 | = e = 300
31 |5 - AP L AR DGR AGBITE T 150
342 Pre i e = 1,500
343 |3 garp 4 1@ & BOKGEII AT AR & 1,000
M4 | RFAFRCEFIEPF TR = 1, 500
345 |42 3 i H o2 vig P 4 %A (PURE) = 1,500
346 |Echo for OBS/GYN =% 400
347 [Berdg 3 = 1,200
M8 | R4 At = 300
MY | S - A H A p* e A (4P = 400
350 | &1 revade 3 i = 200
351 [#1 imd ik = 800
352 |itcig *+ 4 & kg% = 3,000
353 [Quantiferon(IGRA) EN 3,000
354 |RBGEE)ET Y = 5,000
355 | & % it A fi A 49 = 600
356 | 3 B & &R B = 300
357 | &R 4 Rl = 300
358 | S ved 2 (E c H M &/ 5 ) =% 200
359 [ ved 2 W CHZCH B &/ 2] = 360
360 [% gt s A (H - M &) 600
361 [#i vt 3 &Y (A BHE) 900
362 | st itk i Rk (154 48) 320
363 | T s LR YRR (304 48) = 600
364 |° B® B-FAPRGREK) = 280
365 |® RAFse-7 42" R (R ER) = 120
366 [A2F A EIIA SRR A IR 2,000
367 |BERT KA BEEI-AHE = 1, 600
68 |BERF FA AR E-F 22 ¥ = 2, 400
369 |BERF FAE-K SR HE = 800
370 |(F )R eh E ok ok 47 52(3000%) = 2,000
371 [CRD)H b Zokioa 1 8 (1500%) = 1,000
372 | BT Bk i = 800
373 |Free Walk *F % %224 EN 3,000
374 | ¥ iv K E AR = 300
375 | P in K E -4 iF = 600
376 [ iR - HA = 100
3TT | F sk = koo e e 1, 150
378 | s T ks e e 1, 300
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39 | Py ddria oY RER 1, 300
380 | Tad sy o —dEseE 2,000
Bl [BEAHLSR-Y RER 1,000
382 |mrs N Ling s 1,500
383 [1 iea 4 = B 1,000
384 |2 g0 Eed 7l 2,100
385 [T Hiimh § 1,000
386 |# maep T Mg s g2 (304) 320
387 |#micp f B sP 4L 4 (4 3 4D % 240
388 |# JLis i 2 5= dF 2 4 G fea]) % 500
389 [Bha o EiEgaEL £ (@2 AD 5k 240
390 [Bhac o i EiEG AR £ GG 5k 500
391 |2 el EndR2 £ (@ %4 5k 240
392 [P s ph A B ik o At T%{ ) AN 3
393 [Pop A o (R 2 A3 ) ~ 4
394 [Aef A EslE 2ot g 5 B R R A S 22,000
395 [MAKO #5 % < B et 4 1 B & % 3 £ piF ‘ 409, 500
396 |52 gAY sm e gy e 35, 000
397 i 7 MR AR TN £ i 36, 000
398 |¢ 4 B E 7,000
399 |p 7 e A ZHET) =X 6, 000
400 |~ # (8 & 1 P4%) 30, 450
401 | H (B 4 p Pogh) 25, 000
402 |1£ & £ %2 £ i(Penile Venous-Stripping-Surgery) = 250, 000
403 |Vasectomy 7,000
404 |BaH 8 v L 40, 600
405 |k p % 29 s Bk o e 20, 000
406 [k p % S oG Al o 2 ki 20, 000
407 |ATS i °F 3 & 2 ‘ 6,000
408 |B~er £ (5 P 3 B &) 20, 000
409 |Br £ (= 10%F) 20, 000
410 |3~ or it 7,000
A11 | e gk 7 230 @ e<Bem 12, 960
412 |4 e gk 76 23 f >5em 19, 100
413 |Hcg) P ARt B 4z 27 o2 £ is(Microendoscopic Discectomy ° MED) = 80, 000
A14 |0 3 3 b By sk & R ik F 5 e > P 65, 000
415 | # & XENAS el 4 51 in < e 18, 000
416 |33 80 ) 5t 8, 000
A17 |5 3 (535 2. B or £ jpe(<103F) 10, 000
418 |5 3 i35 2 B o £ pe(5103F) 20, 000
419 | & 45 s i t ko o % 2,000
420 | 55 4 3D v+ 29, 580
421 |25 m (A ) 1,600
422 | 4553 % 2,000
423 | BA 12 3R (904 48) = 800
424 |2 w2 Fo%i5% (904 4) 2,500
425 | & B35 4pes Tpcis(rTMS) 4,000
426 |3 1§ 5 3 m v o B 12, 600
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ST LA aper | CRTE
427 |74 i Jed2 73 = 10, 000
428 | kIR 1B = 100
429 [P275 5 S i 85 il e = 4,500
430 % £ B A 1 gHf =X 4,000
431 | X kB~ 3 = 3,500
432 |F %k ¢ * -Air matress use day 120
433 | b M FEEP R (F F) = g 300
434 {hu £liE 7 47 I =X 300
435 | 5 12 45 ¥ 2 2 (IBCLC) =X 500
436 F/%"'..ﬁr&/#%‘r % EN 150
437 [LRFE A~ 47 =X 250
438 | & 8 e A 3 T ORI CRAT 3 B = 150
439 | £ 88 0 AR E R & 250
440 |[Er2 £ 3 (=) X 3,000
441 |Paine ¥ R E R =7 1, 000
442 (374 s2%3Ra 3 ER KB LY 2, 145
443 | = % B F e 300
444 255 ek 7 = 250
445 | ko fi e g =X 2,000
446 |Individual Music Therapy i %5 £ 5% (5047) =X 1,200
447 |Music Therapy Assessment i %|§ & ;3™ = 1,200
448 | & 7 ~ % B =X 3,500
449 |~ % &R =X 2,000
450 |5tk mOR = 5 SR =X 2,800
451 |#F R 7 B E e F b r = 6, 000
IYAREE T EES &d =X 1, 500
453 | & B ek F( & =X 250
454 | kA ik §CED e 350
455 |¢ Fra s/ H bs* = 500
456 |¢ Fima/ 5 & 4 100
A57 s ks (154 @ p) =X 200
458 g 38 -H = =X 1,500
459 [ ko R el =X 380
460 | 5S4 R oM Rl =X 400
461 |ZE FAH T —F° (P 7= 100
462 | &R A F —#4° (k) X 35
463 |E SR H T —4 5 x 40
464 |5 2 R )%.1 7 t 60
465 |¥ ZH&E S AW R b 20
466 | ¢ %55;6;6,1 i A= 200
467 (151 Foo 5 % B 245 & A= 500
468 | & KALE ¥ =X 500
469 % R AR ¥ =X 500
AT0 |A 672 Ak % = 800
471 %F’;‘%?L« b (C) =X 3,000
AT2 |3+ @ & B u XL g 6 (D) =X 4,000
AT3 |3 @ 4 B IR "s—%ﬁﬁ(E) =X 5,000
A74 |5 BEF & P 200
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